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�����ن :    ا���ة                                             .   ���م ت�5	,�� 2 :� ��ىا�.  
 

�<�ط  06 (  :ا����	ـــ� ا9ول.( 
 

����ي ��� ��� ��������� �����ل آ��ر ا���د��م آ�� �����  � ���* �� �()' ا�&����ء أآ��س "! ����
11,7 g / L ) �" 2آ��س� ����م ا��'آ�� ا��د��ر ا���آ� آ�5 ، ) � ��� �، �<'ض ا���>; �: ه78 ا�*�6� ا�����"

�&��)� �� ������ �: آ��ر ا���د��م "�'اآ�� �����  '?�@. 
 ���B�Cا� ��(�'D�� ، ������C ��� ا�IJ��C ا������ G �� 5�<@G'وط ��B�Cس ا���B ��'آ�) �K ا�ل "���� ��� : 

 
10 8 7 5 3 1 C(m mol/L) 

4,920 3,940 3,440 2,460 1,480 0,492 G (ms) 
 

  ، ��ذا �_�I�C ؟G = f (C)أر ] ا���C�C ا�)��@�  -1
� ����ل ����د �� أح* اaآ��س ا�)! ����� و ا���*د  -2��B�@ س��B �K35أ� �  G = 2,9 ms �'ة ا�>��

��(�'Dوط ا��'dو�� @&5 ا� ���B�Cس ا���B ��'آ�) 5&C" � .     و ا��>� 
�'آ�� ا�����ل ا���*د و���: ا ��� ا�)��ن ا �I�C ا����د - أC1.  
 . و ا��'آ�� ا����� �����ل آ��ر ا���د��م ا�����د �� اaآ��س Cأح_� ا��'آ�� ا�����  - ب
3- ��(�'D� .�Bرن ا��'آ�� ا����� ا�����ب ��� اaآ��س �g ا��'آ�� ا����� ا���_�ب 

 �Kh� :Na = 23 g / mol    ;    Cl = 35 ,5 g / mol 
 
�<�ط09 : ( ��	ــــ� ا�*��(ا�� . ( 
 
І / gض��� ح'ة ا��'آ� ح�ل ح����� �C* إ"'ة�_�o�C>�  

 �K<Cا�O qح� ، d = 5 cm��dا� �� tض�� �آ�� ه . 
 �� �&��حho�<ا� :�_�o�C>ة ا��'"uا��  أ�>�� و���د�

 v�_ا� ���CD �<��� ��<�aا �  ا�B�d��� G ،*ة ا��'آ)
  .Bh = 2,0.10-5 Tا��<�o�C_� اaرض� 

 �<�>� �ho�<ا� : �J�"'ر آ���� �*ل �>��س ا�a)�' ��� �'ور 
 {�*GI = 8 A.  
�I �: �'ور ا����ر -1�Cا� �_�o�C>ة ا��>� ا��*G *أو� 

 �K<Cا� *C� �B�Cا� �� �J�"'��ا�O.  
2-  �K<Cا� *C� *ة��ا��� �_�o�C>ا��>� ا�� �hGأ �~�O.  
� ا��او�� ا��� ��C'ف "�� اu"'ة �: وضC�O ��h* أح_� G*ة ا��>� ا��<�o�C_� ا���� ا�����*  -3��B I�C� وا 

�Jا6"�*ا. 
 
 
 

 
  1/2ا�@/��  اA�B ا�@/��

 



  
 
ІІ / ;"�_ا� v�_ا� ��h�_@CD: ا�����ا�_ �"'D� ��  ��dا� �� �C�(: 

 �� ��� ا�>���*hا�� gض��R=2Ω *����� �  E= 24v ، ا�>�ة ا���'آ
��  . �R’=4Ω~� �� �>�و�� وح�*ة �>�و�� ا�C�ا�B و اa !ك 

 .أح_� G*ة ا����ر ا���'"��J ا���ر �� ا�*ارة -1
2- v�_ة 6"!ص ا���ث'ة ��� ا��B ة*G و ��� :�"CD إذا آ�ن،  

 {�*G �_�o�C>� �<ث�' ح��� g?)�B = 0,2 T {��hG ن��� : 
 .���د�� ��� �_��ى ا�_���: و����� @�� ا�(�رج - أ
  و����� @�� ا�*اخ�°30زاو�� g� gC��CD  ��_�B ا��B�C  - ب
 ) v�_ر �: ا��ء ا��<��Dل ا��oCD �ه l =10cm.(  
 

D��*�ــــ� ا	إد�����  : ا���� ���Fط 05(و�>� .  ( 
 

 ��� g�*ا� �� �: ا�h�aب �: ض���C  ��رة ر"������D� v��� '�>أخ ص {� ، ��(�'D�� ا�~�@�� ���م C_رس  ��' �� ا�*�
 .'"��J أو ���ل آ�'"����J'ك آ�'"��J �<8ى إ��  "�h�د آ�

 �(  �)G {ح��!� �Bآ�� و�: د'�� v��&�" م�B ، ه78 ا�_��رة ، ��خ8ه�  ��' ����ول إص!ح�� ��Kh��� ��م �� 
���Kh�. 
 .�'"��J ، ث] �)*أ �d<��}أذآ' أه] ا��Chص' ا����@� ����'ك ا�� -1
 .أ"'ز ا6ح���6ت ا��� ���: أن ���ن  ))� �� ��Kh ا�_��رةأذآ'  -2
�K)�>� أخ'ا  ��d"�� ��)*أ ��� ا���'ك ا���'"��Jأذآ -3 ' .  

 
 

HI��  2/2ا�@/��  ا

 


